Lesson 6 – To solve addition length problems
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Do 5


Mum knitted a blanket. On Monday she knitted 23cm and on Tuesday she knitted another 37cm to finish the blanket. 
How long is the finished blanket?
Do 6


The upstairs corridor at school is 35m long and the downstairs corridor is 24m longer.
How long is the downstairs corridor?
Do 7
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Think
Convince me
Convince me that if my plant is 7cm and grows another 9cm it will be 16cm tall.



Explain
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Jeremy’s hair is 14cm long and grows 11cm. How long is
Jeremy’s hair now?

because 14+ 11 = 25cm

Jeremy’s hair is 3cm long

Marshall because 14— 11 = 3em

Wheo is correct? Explain how you know.
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Rope Ais 12 m long.
Rope B is 4 m longer than Rope A.
How long is Rope B?

12m 4m

Rope Bis m long.
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Alampis 25 cm tall. A can is 16 cm tall.
What is the total height of the two objects?
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After using 57 cm of ribbon, Holly has 36 cm of ribbon left.
What was the length of ribbon she had at first?
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An electrician cuts a long wire into two parts.
The first part is 14 m long and the second part is 29 m long.
How long was the wire before it was cut?
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What s the length of two of the erasers?
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